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Question Number : 1 Question Id : 7155052569 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let R; and R, be two relations on E”defined as
(a,b) Ry (c,d)ifad —bc=0

(a,b)Ry (c,d)ifa+d>b+c. Then:

Options :

7155058081, R1 1s transitive but R, is not transitive

7155058082, R2 1s transitive but Ry is not transitive

7155058083, Both R and R, are transitive

7155058084, Neither Ry nor Ry is transitive

Online
Mandatory
20

20

80

Yes

0

1
715505159
Yes

null



Question Number : 1 Question Id : 7155052569 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
I H R2 TR, TF R, IO TR (S,
(a,b) Ry (c. d) T ad — be = 0
(a.b)Ry(c.d)TMa+d = b+c. (ICT
Options:
7155058081, R1 TR FER, 727

7155058082, 12 FIRIFIWI e R wz7 |

R . :R" (&1 T VAR
7155058083, 1 =1~ ©2 LA FREREE |

7155058084, K1 TR, GBl'e FRIFNT 727 |

Question Number : 2 Question Id : 7155052570 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

" { 030 30 V2
Let a and P be the roots of x~—3x +9 = 0. Then | A | s equal to
(9)  (9p)'? )

Options :
7155058085. 1
]
7155058086. 9
7155058087. 3

7155058088. 9



Question Number : 2 Question Id : 7155052570 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
= - [ g3 30 32
RT3 49 = 0 TR o I 751 T | (T l;TTI(;W;mﬁs
I\h o J
Options :

7155058085 1
]
7155058086. Y

7155058087. 3

7155058088. 9

Question Number : 3 Question Id : 7155052571 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

For z=2 + 5i. the modulus of 273+ 2122582+ 4is:
Options :

7155058089. 1153

7155058090. 947

7155058091. 337

7155058092, 837



Question Number : 3 Question Id : 7155052571 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
z=2+5i, IACE22° + 212" - 58z + 4 I IRT T ¢
Options :

7155058089. 1153
7155058090. 947
7155058091. 537

7155058092, 837

Question Number : 4 Question Id : 7155052572 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
If the system of equations

Kx—ﬁy+\/§z -J7

= = —
\."IJ.T + < 3}-‘ = '\."EZ =411

30x +(3V15 = 5v6) y + (5715 = 3310)z = 5421 + 3455
has infinitely many solutions. then K? is
Options :

7155058093. 27



I
7155058094, 3
7155058095. 9

7155058096. 3

Question Number : 4 Question Id : 7155052572 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

M

ke — -,..Ey + 5z =47
'\.'IE.T + '\-'I.EJ_:" - '\,"IE: = '\‘I'LJ._-J.

30v + (345 = 546 )y + (3415 — 34102 = 5421 + 3455

RS HRILEE WATY T FAE 4F. (SR K25

Options :

7155058093. 27

I
7155058094. 3

7155058095. 9

7155058096. 3

Question Number : 5 Question Id : 7155052573 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



/ fa 0)

g 0)
,B=|
\ﬂ a )

\U ﬂ,-'
(A%B)#2I =201 where # is defined as A%B =A% + B, then | af| is equal to :

For o, p € £, if the matrices A=

and [ = (]] []m satisfy the equation

Options :

7155058097.2xﬁ§
7155058098, 272
7155058099, 4

7155058100. 2

Question Number : 5 Question Id : 7155052573 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
i} e i 0] oo f B (% )
U—-.BE—_*--.EW&WAzu[} B-’Bzuo &u’Izu[} 1} u;]" 1' 'Llj [’q} (A*B}*2I=ZUI.
ol S ol S

TIRSOIE 77 TS, TT % T A*B =A+ B3 K@% 391 (202 (30T | of| T TW
AINZ T3
Options:

7155058097.2\ﬂ§

7155058098, 2v/2
7155058099, 4

7155058100. 2

Question Number : 6 Question Id : 7155052574 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

. —— 1
The sum of the first eleven terms of the series is =

Options :

7155058101. 133

7155058102. 133

7155058103, 33

7155058104, 67

Question Number : 6 Question Id : 7155052574 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
1 2 3 : :
- +... CAITITO 15T 11 B o= (AT 27 ¢

] T T 3
LA 9%t 118t it

+2

Options:

7155058101, 133

B
7155058102. 133

16
7155058103. 33

-
o

7155058104, 67



Question Number : 7 Question Id : 7155052575 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
x+2

lim(1+3x) * s equal to

x—0

Options :

7155058105. €

7155058106. &°

7155058107. e°

7155058108. e°

Question Number : 7 Question Id : 7155052575 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

x+2

Lim(1+3x) * FW T J %

x—0

Options :

7155058105. €
7155058106, &
6

7155058107. €

7155058108. e°



Question Number : 8 Question Id : 7155052576 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

' o : : g s . x=5 y=12 z-10 7.
Let pw,ﬂ‘ﬁ]bethe image of the point Q(1,2,0) in the line e =5 ,then (PQ)~ is

equal to
Options :

7155058109. 90
7155058110. 180
7155058111. 360

7155058112, 270

Question Number : 8 Question Id : 7155052576 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-3 y-=IZ2' z-10 - .
W2 Plo, f,4) 0 =7 = LM AORE Q(1,2,0) (908 (PQ)? TN 2T

Options :

7155058109. 90

7155058110. 180

7155058111. 360



7155058112, 270

Question Number : 9 Question Id : 7155052577 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A box contains 7 red and 9 white balls. The number of ways of drawing 8 balls such that there are at
least three balls of each colour, is :

Options :

7155058113, 8820
7155058114, 10584
7155058115. 1764

7155058116. 3515

Question Number : 9 Question Id : 7155052577 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

61 IPEW 751 981 W9 9 BT 390 36 WI0g | ATOTE! 16K NS 3 51 I LI § 51 I
DI GIeTaIR WwIF GRS Y2471 23
Options :

7155058113. 8820

7155058114, 10584

7155058115. 1764



7155058116. 3515

Question Number : 10 Question Id : 7155052578 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

' - f ~ 1- - '
Let [t] denote the greatest integer function. If [[1+2*+¢* lar=a, then 365 - 254" +84° - o' 15 equal to
it J

Options :

7155058117. 19
7155058118. —19
7155058119. 18

7155058120. —21

Question Number : 10 Question Id : 7155052578 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

@I (1] (7 o T TN ToErg T [0 42t ie=a, (7T 36a- 250"+ 863 - '
0

TME < 8

Options :

7155058117. 19

7155058118. —19

7155058119. 18



7155058120. —21

Question Number : 11 Question Id : 7155052579 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let PL = 8 units and QM = 2 units be two parallel line segments such that the line segments PM
and QL intersect at the point R. If PL and QM are tangents to a circle passing through points P, Q,
R then radius of this circle is

Options :

7155058121, ~2
7155058122. 2
7155058123, 242

7155058124, 4

Question Number : 11 Question Id : 7155052579 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YR pL = § I W QM =2 IFF WBI TG (T4 T M N[ L

e iR O FIG | M 2, o » FRATE (AR 381 20 o TS
Q2T (918 A2 JBI0I IPTH 24

Options :

7155058121. <2

7155058122. 2



7155058123, 242

7155058124. 4

Question Number : 12 Question Id : 7155052580 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For some o €17, let PQR be a triangle with two fixed vertices P(2, 5) and Q(a, -11). If the point R
moves on the line /i 9x + 7y + o =0, then the centroid of APQR moves on the line /, which is

: 20 ; L : ‘ :
parallel to /y at a distance ——units from it. If the distance of Q from /, is X thenkis
130 £

Wl 3,130

equal to :
Options:

7155058125. 117
7155058126. 129
7155058127. 131

7155058128. 133

Question Number : 12 Question Id : 7155052580 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

0 € 119 AMR, $9=4 PQR 61 (G 9 T4 05! F4F AR 24 P(2, 5) WF Q(o, 1) I
R [9UBIG 1;: ¢+ Ty + =0, (FU104 91O B4, (OB APQR T GAPHLD! , (94109 91fw

IRUER 2L I TGO 1, TG | T, 3R] QI7RY N%’iﬂ,mk

.1\-".””
AN 248
Options :




7155058125, 117
7155058126. 129
7155058127. 131

7155058128. 133

Question Number : 13 Question Id : 7155052581 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

: . 7 ) & :
Let Ax;, ), i = 1,3 be points on the circle x°+ y*= 10 such that A, lies in the 1" quadrant and it
is the image of point A, with respect to y-axis. If the distance of point A; from each of the points

A, and A; 15 2, then twenty times the area of the A Ay Ay Az is
Options :

7155058129. 12
7155058130. 30
7155058131. 24

7155058132. 48

Question Number : 13 Question Id : 7155052581 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



(AT L+ 9% = 10 G GO/ A, y.), =1, 2, 3 B! I T A, RATH! 19 (o1F 2T
T, - T AATT A, A5 2fof7) 77 A2 W6 A 2OReTR! 73 91 A, T9 2 35,
(I8 AA Ay A; GemiR e 20 G733

Options :

7155058129. 12
7155058130. 30
7155058131. 24

7155058132, 48

Question Number : 14 Question Id : 7155052582 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
The remainder when 7% is divided by 15 1s
Options :

7155058133. 5
7155058134, 7
7155058135. 9

7155058136. 11

Question Number : 14 Question Id : 7155052582 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



789 15 (F OI9 TR0 Ol T3
Options :

7155058133. 3

7155058134, 7

7155058135, 9

7155058136. 11

Question Number : 15 Question Id : 7155052583 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

If the plane y = ox — Bz + y passing through the point (1, -1, 3) is perpendicular to each of the
planes 2x +y+z=1and3x-2y+2z=0,thena+f+yisequal to:

Options :

7155058137. 5

7155058138. 13

7155058139. 19

7155058140. 27

Question Number : 15 Question Id : 7155052583 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



(L1 (S Ry =ax—fy+y mzx‘ﬁ“?IWBx—?}’—Ez=OWGG’1
T4 UOUDR ST AL, (O[T a+ f+y iAW
Options :

7155058137. 3
7155058138. 13
7155058139. 19

7155058140. 27

Question Number : 16 Question Id : 7155052584 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

AN

i Fib W 4 P A i) s S
i+2k, c¢=2i+j—4k be three vectors. If 7 is the vector such that

2 A A% M= N
Let a=i42j43k b=i-
L S o JE 5 geery —* !:_’ —3‘\' - fa A A 2
tXa= b+c Xxa and .+ b—c|=0 then ,-.(HI‘_,’;) Is equal to:

/ \ J '

Options :
7155058141, 3
7155058142, 4

7155058143, 3

7155058144, 6

Question Number : 16 Question Id : 7155052584 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
o . FiN A= AA N =3 AR AN FiY ) [ o, oy
ARTH a=i+2]+3k b=i-j+2k c=2i+j-4k 0! (TTR| T ; B! (TR IS

cige g Foa g o —* |r'—3‘ . . ia - -~
r)<a=lb+c.)<am te b—c|=0 (O% F"(f+,f—k] TN Z3—
J \ J )

Options :

7155058141, 3
7155058142, 4
7155058143. 5

7155058144, 6

Question Number : 17 Question Id : 7155052585 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The probability that a randomly selected root of the equation | +x + 1% +..+ 182 0 satisfies the

equationx' =1, is
Options :

7155058145, 0

7155058146. 59
2

7155058147. 59

7155058148, 118

Question Number : 17 Question Id : 7155052585 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

f=lﬂﬁ@‘ﬁﬁ%¢ﬁmml—x +x3—...+x“5=0ﬁ1ﬁ¢ﬂiﬁwmww
RS ABIROET T ¢

Options:

7155058145. 0

7155058146. 29
2

7155058147. 59

7155058148, 118

Question Number : 18 Question Id : 7155052586 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let X have the binomial distribution B(n, p). If its mean 1s 3 and variance is 2, then P(X < 3) is
equal to :

Options:

7155058149. 3

25 2

7155058150, 3°

163
7155058151, 3°



835
7155058152, 3°

Question Number : 18 Question Id : 7155052586 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
4T3 B(u, p) x5! 207 < | T 297 HRIBIR ey o016 277! T 3 6 2 7, (9%

PX< ) TR T
Options :

29% 25
7155058149, 3°

25% 27

7155058150. 3°

163
7155058151, 3°

835
7155058152, 3°

Question Number : 19 Question Id : 7155052587 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fooy '
gl xF-3x+2] .

The domain of the function f(x)=cos | ——|is:
Seemy il aet )
Options :
71, i}
7155058153. - 2



_’x

b
7155058154, [5 J

7155058155, -~ =42 = L. 2 — 1]

7155058156, (—o=.— 1—+2) 1w (2 = 1.59)

Question Number : 19 Question Id : 7155052587 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Options :

o
|
|

3
ﬁ_l.‘ _:|
7155058153. . 5

o

i
7155058154, [5’ ),

7155058155, =~ =42 = L. 2= 1]

7155058156, (—o=.— 1—+2) 1w (2 = 1.59)

Question Number : 20 Question Id : 7155052588 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Which of the following statements is a tautology ?

Options:
7155058157. ((p = Q) V p) =g



7155058158. ((P A Q) = p) = g

7155058159, (P Aq) A{~q)) = p

7155058160. ((P=q) V p)=p

Question Number : 20 Question Id : 7155052588 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
VB Bl e e

Options :

7155058157. ((P= Q) Vp) = q
7155058158, (P A Q) = p) = ¢

7155058159, (P A Q) A{~q)) = p

7155058160. ((P=q) V p)=p

Mathematics Section B

Section Id : 715505160
Section Number : 2

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20



Enable Mark as Answered Mark for Review and

Yes
Clear Response:
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 715505160
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Number : 21 Question Id : 7155052589 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The curve y=x"+ | divides the area enclosed by the curves y + x| = 3 and y = [x~1|in the ratiom :
i, where m and n are coprime, then m + n is equal fo

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 21 Question Id : 7155052589 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
y=14 JPOI(eT y{x|=3 WP y = |x=1| P RO [ W[ (R CPIFAP m:

1 A0 W P, IO 1 G 1 372 (e ST, (OF m+n T N[N
29 |

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 22 Question Id : 7155052590 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number of ways in which 30 identical pens can be distributed among 12 students so that each
student gets at least one pen and exactly two students get at least two pens each, is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 22 Question Id : 7155052590 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

12 T T T TS 2T T2 IS B e 91T T (JE T DL I0AE T e
I, (T8 30 31 e O] I9F T AT LT |

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12



Question Number : 23 Question Id : 7155052591 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

: iz = :
Let (14x2—x*) =3 ax™ Thenag+ap+ay+...+ agy is equal to
' n=1{

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 23 Question Id : 7155052591 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

48
~= | 12
I9EZF [1—!—3(2—3('1'] = Xoage’, AVTRY ag T ayTay . Tayy TINET
' n=0

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 24 Question Id : 7155052592 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
If S, denotes the sum of first n terms of the series 7+ 10 + 16 + 25 + 37 +..., then S3p— Sy is equal

to

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 24 Question Id : 7155052592 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T 7410+ 16425+ 37 +...CATBT 1901 S (TOT S, (3 T, (TTE S5 S T

73 |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 25 Question Id : 7155052593 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
If [t] denotes the greatest integer < t, then the number of points , at which the function

f(x]=[x+xﬂ+‘x—x3 ‘+

1
v+
2

is not differentiable in the open interval (-10. 10), 1s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText



Possible Answers :

10to 12

Question Number : 25 Question Id : 7155052593 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
(i — f - -
W [t] (F<t,99 ﬁ ’ré.i AT ﬂﬁm § S R AUTAY Y] _i‘().]"_.aﬂ’_g—n—.;"—

| TN (10, 10) &

TS TR T (AR I e 79
Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 26 Question Id : 7155052594 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ifj dx _ |
B4 102+7 380

log, | f(x) [+C where C is an arbitrary constant, then 7 (0) is equal to

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 26 Question Id : 7155052594 Question Type : SA Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

dy |
e log, | /()T C 3, (918 £ (0) ST 2
J ey 0 C 9] R T, T8 (1) A=

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 27 Question Id : 7155052595 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Let the equation of the hyperbola with foci (1, 5). (1, —1) and eccentricity 3 be

x“—2y*+ax+by+c=0. Then|a+b+c|isequal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 27 Question Id : 7155052595 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
W’ﬁxz—ﬁfﬂx—bl-'-FOﬂiﬂWW e (1, 5) W1 (1, -1) O T
B g, Ja+ b+ ¢ TWRET |

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 28 Question Id : 7155052596 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Let 0y, oy be the values of o such that the distance between the point (2, 4, 3) and the plane

3x+y+oaz+10=01s 35 units. Then the area of the triangle with vertices (ay, a5, 0),

(164 )
(a, a1, 0) and |1—;.3;u is unit-.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 28 Question Id : 7155052596 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
4T o T T 0y oy 0 (2, 4, 3) B 3x =3 = 02+ 10 = 0 FoT001 g V35 &R =3, (0, 0, 0),

(a3, 03, 0) TF | 250 e 2 Agma B 29 ol
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 29 Question Id : 7155052597 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. =t N N s i Fi N ~
Let O be the origin and let the vectors OA=-3;+7; +5k, 0B=-5i+7j-3k and oc= , represent
three sides of a parallelopiped, where ;; is a unit vector in the xy- plane. If the maximum volume
of the parallelopiped is 2/, then a is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 29 Question Id : 7155052597 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

43T O T, e EIT A
OR=-3147] +5k, OB=—5147] -3k T
OC=i.1y - TIORO & G (T, (TIT [OOIZ Wbl remegrares TN | IH
RIS —— 2\/; TEZ |
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText



Possible Answers :

10to 12

Question Number : 30 Question Id : 7155052598 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

X+y=2 dy X+y+l

If the solution curve of the differential equation X+ >2 passes through the

x+y-l dx x+y+l

da+2

; e (& ;
points (JE.JE) and (2,a), then 2~ log, is equal to

\ i

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 30 Question Id : 7155052598 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

~ X+y=2 dy X+y+2

x+y-I a_,!(+y+l"H"F}2 WW@WW@("E‘JE)@[ (2'05) P G 19

o‘r3+4a+2w

(008, 2a- Ingc( AU 24

/

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12



Aptitude Test

SectionId:

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time:
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default?:

Question Number : 31 Question Id : 7155052599 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Adobe is a

Options :

7155058171, Lype of cement

7155058172, Lype of floor finish

7155058173, Lype of paint

7155058174, Lype of Brick

715505161
3

Online
Mandatory
50

50

200

Yes

0

1
715505161
Yes

null



Question Number : 31 Question Id : 7155052599 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
UICY E N4

Options :

7155058171, AP AP fHITH

7155058172, I AP NG AfeT6

7155058173, <IB] HP[EIF 93

7155058174, CIBT AP 26]

Question Number : 32 Question Id : 7155052600 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I : Chandigarh is the first planned city of Independent India
Statement IT : Chandigarh city was designed by Swiss French architect Le Corbusier

In the light of above statements, choose the most appropriate answer form the options given
below

Options:

7155058175. Both Statement I and Statement IT are correct

7155058176. Both Statement I and Statement II are incorrect



7155058177. Statement I is correct but statement II is incorrect

7155058178. Statement I is incorrect but statement II is correct

Question Number : 32 Question Id : 7155052600 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Ol ROl O WARCGHET (078

O 1: 581G T8N RO AN AR{BE© 523

Of @ 11 : 59151 52944 527 (3™ IR ol PIIGAE 61 FR|

&7 OYTN(© & BB 6! HA P4
Options :

7155058175, OIS I W€ i@ 11 UG &%
7155058176. Gf e 1 S+ Of & 11 UG e

7155058177, 91 I (G &% 5@ Gfer 11 (O e

7155058178, \ & 1 (Gl (6@ Ofe 11 (51 &

Question Number : 33 Question Id : 7155052601 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:
Statement I ; Glass has low thermal conductivity
Statement II : Glass can absorb, refract and transmit light.

In the light of above statements, choose the most appropriate answer form the options given below
Options :

7155058179. Both Statement I and Statement IT are correct
7155058180. Both Statement I and Statement IT are incorrect
7155058181. Statement I is correct but statement II is incorrect

7155058182. Statement I is incorrect but statement II is correct

Question Number : 33 Question Id : 7155052601 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

©el® Bl O Hl (=05:

BATI : FIHF O AI=ZA FFUO] FA

AT 11 : FICH (2T 82T, (IO ST W FASI B AR

89 BT fwle® ™% GaI6! B F4I
Options :

7155058179, 9T I ¥ O 11 IO ®7
2155058180, @ I W< OF 11 YLAIGI el

7155058181, O 1 (O] &% fF@ ©AT 11 (BT o1

1155058182, OV 1 (Gl '9el [FF ©AT 11 (BT &7



Question Number : 34 Question Id : 7155052602 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LIST II
A PPMUY [ [KAUSHAL VISEAS YOINA
B. PMAY II. JAN DHAN YOJANA
C. PMEVY [L JUITWALA YOJANA
D. PMIDY IV, JAWAS YOJANA

Choose the correct answer from the options given below:
Options :
7155058183, A-L B-1II, C-II, D-IV

7155058184, A-IIL, B-IV, C-I, D-II

7155058185, A-IV, B-II, C-III, D-I

7155058186. A-IV. B-III, C-I, D-II

Question Number : 34 Question Id : 7155052602 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



SIfel<pl 1 9 CI0® ©Ifell 11 B MTErr

LIST I LISTII
(HATEGEFIE (PMUY) L | [ G
(H.AN.99975 (PMAY) IL [G 4= MG

[T oedrE (PMKVY)| L [S8se G
(N ANGLSdE (PMIDY) | IV, [SErsT (g1

gl o|w| =

Choose the correct answer from the options given below:
Options :
7155058183, A-L, B-III, C-II, D-IV

7155058184, A-1IL, B-IV, C-I, D-II

7155058185. A-IV, B-II, C-III, D-I

7155058186. A-IV. B-III, C-I, D-II

Question Number : 35 Question Id : 7155052603 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LIST IT
A |CP Kukreja [ IIM Ahmedabad
B. [Louis I Kahn II. Jawahar Lal Nehru University
C. |B.V Doshi II1. IIT Kanpur
D. JAchyut Kanvinde| IV, [[IM Bengalum

Choose the correct answer from the options given below:
Options :
7155058187, A-IV, B-II, C-1. D-III

7155058188, A-IIIL, B-1. C-II, D-IV

7155058189, A-1I, B-1, C-IV, D-III



7155058190, A-L. B-IV, C-III, D-II

Question Number : 35 Question Id : 7155052603 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

OlfelB! 19 (1@ ©lfelB] 11 P MWD

oI 1 SIS 11

5 o sotaan | L [orEerzgy sresmeam
25 W2 S | 1L [GrErEsee (Vo [«
& % o IIL. [ ESEls SH[

ETS S| IV, [SIESE.4Y (G291

of o[w[

NS [[RPPTIRI A &7 [FHG AR s

Options :
7155058187, A-IV. B-IL, C-1. D-III

7155058188, A-IIIL, B-1, C-II, D-IV
7155058189. A-1I, B-1, C-IV. D-III

7155058190, A-L. B-IV, C-IIIL, D-II

Question Number : 36 Question Id : 7155052604 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of these is not a complimentary colour?

Options :

7155058191, Blue-Orange



7155058192, Red-Green
7155058193. Blue-Green

7155058194, Violet-Yellow

Question Number : 36 Question Id : 7155052604 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
O] (PG AR 98 =22
Options :

7155058191, NIeTl- PN

7155058192, TO-CTOGIY
7155058193, NeTl-CTOGH T

155058194, (I G-I

Question Number : 37 Question Id : 7155052605 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
In which State of India, Robbers cave is situated:

Options :

7155058195. Himachal Pradesh



7155058196, Uttarakhand

7155058197, Uttar Pradesh

7155058198, Madhya Pradesh

Question Number : 37 Question Id : 7155052605 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AR BRG] ©EOF (PN GO WLH0s

Options :

7155058195, 2 NTHET HTH*]

7155058196, DB Y3

7155058197, WG ATH*]

7155058198, N&T (W]

Question Number : 38 Question Id : 7155052606 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct option among the following:

Petronas Tower 1s situated in:

Options :

7155058199. Paris

7155058200. Dubat



7155058201, Kuala Lumpur

7155058202. New York

Question Number : 38 Question Id : 7155052606 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

®7 GeLG] IR~ F12

(PICHIATE BIARD] SA%w 29¢
Options :

7155058199, CIRZ®

7155058200, 229

7155058201, LAl ™S9

7155058202. EQ@EI Zfs

Question Number : 39 Question Id : 7155052607 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The Konark Temple is located in which state?

Options :
7155058203, Madhya Pradesh

7155058204. Odisha



7155058205. Karnataka

7155058206, Rajasthan

Question Number : 39 Question Id : 7155052607 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

(BRI VAT (PALN GO BRES?

Options :

7155058203, T H(M*T

7155058204, OIS
7155058205, PGP

7155058206. NG

Question Number : 40 Question Id : 7155052608 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Who is the architect of the Lotus Temple?

Options :
7155058207. Louis I Kahn

7155058208. Mohse Safdi

7155058209. Fariborz Sahba



7155058210, Richard Meyer

Question Number : 40 Question Id : 7155052608 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

(<TIGIR N9 AFHANTT (PN 212
Options :

7155058207. 135 IR B

7155058208, (NRLR R E

7155058209, ¥4 R[]

7155058210, 92N AR

Question Number : 41 Question Id : 7155052609 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
A small lift for carrying only a small load is known as:

Options :
7155058211. A dead Bearer

7155058212. A Dumb Waiter

7155058213, A Jockey Boy



7155058214, A push upper

Question Number : 41 Question Id : 7155052609 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
PN GG BIHAAN HF 76 Ay s

Options :

7155058211, <IGI (GG (AT

7155058212, B[ GIF (IR0
7155058213, “IGI G I

2155058214, B B WA

Question Number : 42 Question Id : 7155052610 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which are often referred as 'twin cities' of Odisha?
Options :

7155058215. Bhubaneshwar-Puri

7155058216. Puri-Cuttack

7155058217. Bhubaneshwar-Cuttack

7155058218. Bhubaneshwar-Rourkela



Question Number : 42 Question Id : 7155052610 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
G111 TG 52 REITH GANG® (FEY?

Options :

7155058215, 2 ICNYS- iﬁ'

7155058216. ﬁ‘ PO

7155058217, DINYI-POLP

7155058218, 2 ICNYI-I3(PRA]

Question Number : 43 Question Id : 7155052611 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which is the correct chronology of Human Civilizations in terms of their existence?

Options :
7155058219, Mesopotamia-Harappa-Egyptian-Chinese
7155058220, Mesopotamia-Egyptian-Harappa-Chinese

7155058221, Mesopotamia-Chinese-Harappa-Egyptian

7155058222, Egvptian-Mesopotamia-Harappa-Sumerian



Question Number : 43 Question Id : 7155052611 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

WAL HoToq G &3 FACG! BTG FH2
Options :

7155058219, (LRI 0] RV BT e e B 8] S T e

7155058220, L NCR[CH CBRT-2G; %W-‘E?AT—EHE NG

2155058221 CNCRICHATCGIN-B1 20 29H1- 2G5

7155058222, 2 G eST- CNCRICATCG -2 (BTN R

Question Number : 44 Question Id : 7155052612 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Qutub-Minar in Delhi was built by:

Options :
7155058223. Shah Jahan

7155058224, Jahangir

7155058225, Akbar

7155058226, Qutub ud-din Aibak

Question Number : 44 Question Id : 7155052612 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

M PHI NI (B T BlEfRe:
Options:

7155058223, 2[R GiIRIA

7155058224, \GiIR N
7155058225, “A[PIg

7155058226. FLI-Of~ HIRATH

Question Number : 45 Question Id : 7155052613 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which direction in the southern hemisphere would you get glare free (diffused) light throughout the
year?

Options :
7155058227, North
7155058228, South

7155058229. East

7155058230. West

Question Number : 45 Question Id : 7155052613 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

WIRECT (NI (BIACGT (TS SIS (PN (59T (MEZ IR (AT IR

Options :
7155058227, D&Y

7155058228, AISFCT

7155058229, A8

7155058230, AI*H Y

Question Number : 46 Question Id : 7155052614 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who is the architect of the famous "Jawaharlal Kala Complex" in Jaipur?

Options:

7155058231, Raj Rewal

7155058232, Charles Correa

7155058233, Achyut Kanvinde

7155058234, Hateez Contractor

Question Number : 46 Question Id : 7155052614 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
GRS GRS el (Ptrd ‘Jlu‘ﬁdﬁﬂlm“l (PRI 247




Options :
7155058231, NGy Iﬁa C

7155058232, BIETGT (BT

7155058233, QI PINRTA

7155058234. EII i G L LE Ea

Question Number : 47 Question Id : 7155052615 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Dhajji-Dewari is a construction style popular predominantly in

Options :

7155058235. Coastal Areas

7155058236. Plains

7155058237, Mountainous Region

7155058238. Desert Areas

Question Number : 47 Question Id : 7155052615 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ghog marst 12 46T fsfiefterat =3

Options :




7155058235, M GHFD S

7155058236, 1 N'\9¢
7155058237. Y[R 3 Al B gse]

7155058238, AW 3

Question Number : 48 Question Id : 7155052616 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Which stone is used for roofing in mountainous regions?

Options:

7155058239. Marble
7155058240. Granite
7155058241, Shale

7155058242, Sand Stone

Question Number : 48 Question Id : 7155052616 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT H129 999 Y46 II2M9 (R[] #1e79 NINeol (62
Options :

7155058239, NEGH




7155058240, CATEG

7155058241, (R

7155058242, Al *1e

Question Number : 49 Question Id : 7155052617 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Chandigarh is an example of which type of city planning.

Options:

7155058243, Radio Centric
7155058244, Grid-iron
7155058245, Linear

7155058246, Organic

Question Number : 49 Question Id : 7155052617 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

B5SI9G BRIYN (BHYN V94 ARF T SR |
Options :
7155058243, (SO (GG

7155058244, A5G- 2



7155058245. E":_:lﬂ 9

7155058246, ST TNE

Question Number : 50 Question Id : 7155052618 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
If you have to build on the seashore in Goa. which rooms would have the best view of the sea?

Options :
7155058247, L hose facing North

7155058248, Those facing South
7155058249 1 hose facing East

7155058250, L hose facing West

Question Number : 50 Question Id : 7155052618 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(TR SRR RS (1] F (FIEIR @A TN 91 790 G0 $Ra

Options :

7155058247, 1AL BB MU L FE WY

155058248, AL AR fR*1® Y HIF =Y

2155058249, LA 7 AT 4 S =R



7155058250, AL HAFHI U1 4 FfF =R

Question Number : 51 Question Id : 7155052619 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
"NIFT" National Institute of Fashion Technology. Delhi is designed by

Options :

7155058251. B.V Doshi

7155058252, C.P Kukreja

7155058253, Raj Rewal

7155058254, Bimal Patel

Question Number : 51 Question Id : 7155052619 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

NIFT" (V5T 241500 S (FH (GLRIEATG], Ma! (I 671 SR8
Options :

7155058251, 14 15 (AT

7155058252. 1% TBT PG

7155058253, I\Gi H*E”E



7155058254 1A Nel (PTG

Question Number : 52 Question Id : 7155052620 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LIST II

[. [Empire state Building

II. [Hagia Sophia

IIT. |Sydnev Opera House

IV |Colosseum

Choose the correct answer from the options given below:
Options :
7155058255. A-1L, B-1, C-IV. D-III



7155058256. A-L. B-1II. C-IV, D-II

7155058257. A-L, B-II, C-III, D-IV

7155058258, A-IV. B-III. C-II. D-I

Question Number : 52 Question Id : 7155052620 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



WIfeTdl 19 (500 OIfelpl 11 AT

LISTI LISTII

I. |33 (86 HieSs

1L [=fsran cgIims

I1L. |G ST 215

I (R G BRI

NG [APETIRT 7 &% GeIL6] (HArSF F4
Options :

7155058255, A-IL, B-1, C-IV, D-III

7155058256. A-L B-III, C-IV, D-II

7155058257, A-L, B-II, C-III, D-IV

7155058258, A-IV. B-III, C-II. D-I



Question Number : 53 Question Id : 7155052621 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LIST I LIST IT

. [Tesla

. |Ferrari

I11. [Porsche

" Tovota

Choose the correct answer from the options given below:
Options:

7155058259, A-IV, B-1, C-II, D-III

7155058260, A-1L B-IIL. C-I, D-IV

7155058261, A-1II, B-II. C-I, D-IV

7155058262, A-IV, B-III, C-1II, D-I

Question Number : 53 Question Id : 7155052621 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

wiferd! 19 00 wife 11 E[r

LIST I LISTII

J&D) J-

I |cF=rat

c | o |eong

e || TV |CBTCIGT

e [RPFPTYRT € &3 GSHLG! AR FAT:
Options :

7155058259, A-IV, B-I, C-II, D-III

7155058260 A-IL, B-III. C-I, D-IV

7155058261. A-III, B-1I. C-I1, D-IV

7155058262. A-IV, B-III, C-II, D-I

Question Number : 54 Question Id : 7155052622 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I : Red, Blue and Yellow are the primary colours of a colour wheel.

Statement IT : The colours which are positioned opposite to each other in a colour wheel are
known as complementary colours.

In the light of above statements, choose the correct answer form the options given below
Options:

7155058263. Both Statement I and Statement IT are correct
7155058264. Both Statement I and Statement II are incorrect
7155058265. Statement I is correct but statement II is incorrect

7155058266. Statement I is incorrect but statement II is correct

Question Number : 54 Question Id : 7155052622 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Oel® 75l O7 M (20%s
BUT1: 01, VI I 2 6T I T4 2A1ANE ¢
BYT 11 - 35 TYR© [0 1o SRS 3 @RS AREF 9 44 ([ 2

R EEACRIEE BIRICICITRVRE (4 AR X |
Options :
7155058263, O I W[ II HLAL] O &y

7155058264, 00 I W[ 11 LTI OT el



7155058265, O 1 (O] &7 {5F OAT 11 (BT el

1155058266, OV 1 (G '9el (BF ©AT 11 (BT

Question Number : 55 Question Id : 7155052623 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Following question consists of problem figures followed by answer figures. Select a figure from
amongst the answer figures which will continue the same series or pattern as established by the
problem figures.

PROBLEM FIGURES

DN |

Options :

7155058267.

7155058268.

7155058269.



7155058270.

Question Number : 55 Question Id : 7155052623 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

P~

weTw M 2% 6.9 TGB! 57 Bl &% GEI6! B 1|

NIEIE

Options :

7155058267.

7155058268.



71550582609.

7155058270.

Question Number : 56 Question Id : 7155052624 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
How many triangles are there in given figure:-

AVAVAN
AVAVAVA

Options :

7155058271. 26

]
N

7155058272.



7155058273. 27

7155058274. 24

Question Number : 56 Question Id : 7155052624 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

O [HALGM (FE0] (GO0 WITT:

Options :

7155058271. 26

I
ehn

7155058272.

7155058273. 27

-2
I=

7155058274.

Question Number : 57 Question Id : 7155052625 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Find the odd one out:-

7,9, 25, 32,43, 359
Options :

7155058275. 59

7155058276. 32

]
N

7155058277.

7155058278. 9

Question Number : 57 Question Id : 7155052625 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

el SIeRCo] BT F1:

7:9,25,32,43, 39

Lh

Options :

7155058275. 39

7155058276. 32

[
L

7155058277.

7155058278. 9

Question Number : 58 Question Id : 7155052626 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

A residential building has 15 floors. The height of ground floor is 4.2 meter (including length and
slab thickness). Rest all other floors are of 3.3 meter high (including slab thickness). What is the
total height of the building (from ground to terrace) in meters?

Options :

7155058279. 45.6 meter
7155058280. 50 meter
7155058281. 530.4 meter

7155058282. 51.6 meter

Question Number : 58 Question Id : 7155052626 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

01 ST 7S 15 51 0T WIZ | GORTE GGl (2F, 4.2 meter (71T W BT Tl
TET[Z) | ! TR GeTq GBI 3.3 meter [WWWH JEWEE ‘T{@ﬁﬁ\ﬂ BEIEE
41 (99419 A J&5L) FNGRW?

Options :

7155058279. 45.6 meter

7155058280. 50 meter

7155058281. 50.4 meter

7155058282, 51.6 meter

Question Number : 59 Question Id : 7155052627 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Identify the mirror image of the given word:-

|
|
SUCCESS |
|
[

Options :

7155058283. & 4D Ué
7155058284. U DHE2
7155058285. SUCCE S S

7155058286. SSECCUS

Question Number : 59 Question Id : 7155052627 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

@ ¥ 0 AR BT F4

|
|
SUCCESS |
|
|

Options :
7155058283, & 2 dDDUE

7155058284, 2 J ) Hee
7155058285. SUCCESS

7155058286. SSECCUS



Question Number : 60 Question Id : 7155052628 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The scale of a map is 1:1000. If a car travels 7 cm from point 'A' to point 'B' on the Map. Then how
much the car has travelled in original:-

Options :

7155058287. 0.7 km
7155058288. 7000 mm
7155058289. 7 km

7155058290. 70 meter

Question Number : 60 Question Id : 7155052628 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A4 TW{6GS T (=0T 1:1000, I 4 MG ‘A (9 =T B {70 WIS 7 em
oY FRIZI (O0B MBI AFOLO [FAM 1Y WoFy FRIT:

Options :

7155058287. 0.7 km

7155058288. 7000 mm

7155058289. 7 km

7155058290. 70 meter



Question Number : 61 Question Id : 7155052629 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A land size of 80 meter » 40 meter for a house design is drawn on paper at a scale of 1:100, then
what size is drawn on paper to represent the land?

Options :

7155058291. & meter * 4 meter

7155058292. &80 meter * 40 meter

7155058293. 8 centimeter * 4 centimeter

7155058294, 4 meter = 2 meter

Question Number : 61 Question Id : 7155052629 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

CRRVIE W[PI9 80 meter * 40 meter | qW (572 WG 451 999 I@@i 29 Y (A9
1:100 ] E AlS, (Ol8 ¥ AL [P (AHAq9 97

Options:

7155058291. 8 meter * 4 meter

7155058292. 80 meter » 40 meter

7155058293. 8 centumeter * 4 centimeter

7155058294, 4 meter * 2 meter



Question Number : 62 Question Id : 7155052630 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the missing number in given series.

16, 33,63, 131, 261 4.....)
Options :
23

A

7155058295.
7155058296. 521
7155058297. 524

7155058298. 520

Question Number : 62 Question Id : 7155052630 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

G&F UL SN D® NFIC0] (e

146,33, 63; 131, 261, (.::)

Options :

7155058295. 523

7155058296. 521

7155058297. 524



7155058298. 520

Question Number : 63 Question Id : 7155052631 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In a code language it ROMAN is written as TQOCP: then ITALY is.......

Options :

7155058299. KVCMA
7155058300. KWCNB
7155058301. KUCLA

7155058302. KVCNA

Question Number : 63 Question Id : 7155052631 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

TN ROMAN ST FG SN TQOCP T (OIW ITALY 29.......
Options :

7155058299. KVCMA

7155058300. KWCNB

7155058301. KUCLA

7155058302. KVCNA



Question Number : 64 Question Id : 7155052632 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Select a suitable figure from the four alternatives which will come in the empty box.

- | X | X | ©

(A) (B) (C) (D)

)X
B\ b ] ?

Options :

7155058303. D

7155058304. C

7155058305. B

7155058306. A

Question Number : 64 Question Id : 7155052632 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



weq Ylie] GHRIGM® ATIGY (2] &% GaIL0! [HAGF 3|

— X X O

(A) (B) (C) (D)

| >K
D D|+
A b |

Options :

7155058303. D

7155058304. C

7155058305. B

7155058306. A

Question Number : 65 Question Id : 7155052633 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Looking in the direction of arrow, identify the most
appropriate elevation from the given answer figures.

/!

Options :

7155058307.

7155058308.

71550583009.

7155058310.




Question Number : 65 Question Id : 7155052633 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3D HaUBIT 0] 3 7417 | I 524 M IO &% T4 PI0G! o 41|

vz

Options :

7155058307.

7155058308.

71550583009.




7155058310.

Question Number : 66 Question Id : 7155052634 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Question figure shows top view/ plan of an object. Identify the INCORRECT 3D view from the
given answers figure.

Options :

7155058311.

7155058312.




7155058313.

7155058314.

Question Number : 66 Question Id : 7155052634 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PRHIUBIA 451 T 87 a7 3| O [RPEPTIRA *[1 G Gedibguol b
x|l

Options :

7155058311.




7155058312.

7155058313.

7155058314.

Question Number : 67 Question Id : 7155052635 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



How many surfaces does the object have?

Options :

7155058315. 9
7155058316. 10
7155058317. 8

7155058318. 11

Question Number : 67 Question Id : 7155052635 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

OF IGLOIF (FRYUN Dol H(7?

Options :



7155058315. 9

7155058316. 10

7155058317. 8

7155058318. 11

Question Number : 68 Question Id : 7155052636 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

If the question figure is cut into two parts, which of the answer figures complete the question figure
without any overlappings?

Options :

N

7155058319.

7155058320.



7155058321. "'-—
7155058322. IT g

Question Number : 68 Question Id : 7155052636 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

— [

I 2% 50T T $4 20, U4 (150 OaTq (@16 Godbaa HAHad 9970 417 413
H[3J oV B4

Options:

N

7155058319.

7155058320.



7155058321. “‘*-
7155058322, IJ—_\_KI S

Question Number : 69 Question Id : 7155052637 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The 3D problem figure shows the view of an object. Identify its appropriate top view from the
answer figures,

Options:

7155058323.



7155058324. ]

7155058325. -

7155058326.

Question Number : 69 Question Id : 7155052637 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

PAf5 TG 451 39 3D 770 4| Bad founTaad of[1 TGO &% GG led o]
folle 411

Options :

7155058323.

7155058324.

7155058325.



7155058326. .

Question Number : 70 Question Id : 7155052638 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



[dentify the correct elevation when you look into the object from the marked arrow side of the plan
of the object.

M () ()

A B G D
Options :

7155058327. D

7155058328. A

7155058329. B

7155058330. C

Question Number : 70 Question Id : 7155052638 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FIG 524 M*10 BAET IGLOE &% SL FeTs FIL6! oS F41|

MY Y )

A B C D
Options :

7155058327. D
7155058328. A
7155058329. B

7155058330. C

Question Number : 71 Question Id : 7155052639 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A paper 1s folded in a given pattern and 1t is cut at the end. Identify which pattern is formed when
the paper is unfold.

R AN




Options :

L] [ ] ;.
e
-',.I’\/
[ 2 & -
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7155058331. s _sle e
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g
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7155058334. s els @

Question Number : 71 Question Id : 7155052639 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

WWWW@' 4N BI9TG; OIG; B (¥ B! (27| FINGEA (YR (179 (459 (S
(5 3] fHTe B4
!

f

XA A L

Options :

7155058331.
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Question Number : 72 Question Id : 7155052640 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The question figure shows the 3-D view of an object. Identify the correct view, looking in the
direction of arrow.

A\

I

/L) [/
AA

Options :



7155058335.

7155058336.

7155058337.

7155058338.

Question Number : 72 Question Id : 7155052640 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



#1#] fHaUBITd 451 T8 3-D 7 W1 TG 5 i TR &% 7761 fomTes 41

]

TS AT
AVA

Options :

7155058335.

7155058336.

7155058337.

7155058338.



Question Number : 73 Question Id : 7155052641 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The question figure shows the 3-D view of an object. Identify the correct view, looking in the
direction of arrow.

\

/

Options :

7155058339.

7155058340.

7155058341.



7155058342.

Question Number : 73 Question Id : 7155052641 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

7% atBIa 01 A 3-D 50 | 16 52 WA THIBIE &% 700! ore 41|

v

>

/
Options:

7155058339.



7155058340.

7155058341.

7155058342.

Question Number : 74 Question Id : 7155052642 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
From the given options below, choose the correct plan of the 3-D object, when viewed from the top.

A

Options :

7155058343.

7155058344.

7155058345.



7155058346.

Question Number : 74 Question Id : 7155052642 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

RIS 3-D FILEI 512 TGO &% SAREAI 70! o B

P

iy

Options :

7155058343.



7155058344.

7155058345.

7155058346.

Question Number : 75 Question Id : 7155052643 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The second figure in the first part of the problem figures bears certain relationship to the first
figure. Similarly, one of the figures of answer figures bears the same relationship to the first figure
of the second part. Identify the correct option from the given answer figures.

" \\s\: & I")

[ e [ .

A B C D
Options:

7155058347.
7155058348.
N
7155058349.
%
7155058350.

Question Number : 75 Question Id : 7155052643 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



253 542N T (701 5 WG ok 0] 9T | I W51 /7 R4t 9o
59 1970 (FMG! b W24 o F411

SN

e L] .
A B C D
Options :
N
7155058347.
7155058348.
N
7155058349.
Z
7155058350.

Question Number : 76 Question Id : 7155052644 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the true mirror image of the figure amongst the answer figures with respect to X-X

X

x|
Options :
7155058351.
7155058352.
7155058353.

7155058354.



Question Number : 76 Question Id : 7155052644 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

X-X (YR ARAEFo® 2GR &g ARG Hare 4

X

Options :

7155058351.

7155058352.



N

7155058353.

7155058354, g&

Question Number : 77 Question Id : 7155052645 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct option amongst the answer figures which complete the series.

ik




7155058355.

7155058356.

7155058357.

>/

7155058358.

Question Number : 77 Question Id : 7155052645 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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ah

Options:

7155058355.

7155058356.

7155058357.

7155058358.

Question Number : 78 Question Id : 7155052646 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Sheet is folded in marked format and cut led at last as shown. Identify from the options below, how
the pattern will be made when it's fully unfold?

[ [ [ I
\.‘l’./ \.‘I’. / \.‘I': / \"Fr'/
A 5 2l . :
b M7k ML 4llg NS gl M/ 4
A/|\Lh/|\‘!l"/|\11/i\r
FARAIF RN IR IR
AN A\ AN A\
A B C D
Options :

7155058359. B

7155058360. A

7155058361. D

7155058362, C

Question Number : 78 Question Id : 7155052646 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

7155058359. B

7155058360. A

7155058361. D

7155058362. C

Question Number : 79 Question Id : 7155052647 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



In the figure mentioned below find the missing series:-

ANNIAWAIAN
O @ @D

Options :

7155058363.

7155058364.

7155058365.

7155058366.

Question Number : 79 Question Id : 7155052647 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

7155058363.

7155058364.

7155058365.

7155058366.

Question Number : 80 Question Id : 7155052648 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



A Demand

530 4 D Supply
500 + 7
5 350+ /
= 300+ 7
g 250+ / // / /
Z 200+ /
1304 / /
100 + /
50 +
mm Y >
O L VEGETABLE COSMETICS SANITIZER  STATIONARY
{ FRUITS ITEMS

TYPES OF ITEMS

The diagram shows the supply and demand of different users for different items. Which of the
following is/are correct?

A. Sanitizer only meet 50% of the demand

B. Cosmetics has the least supply among all.

C. Among all, two items have equal demand but difference in supply

D. Among all, two items have equal supply and two items have equal demand.

Choose the correct answer from the options given below:-
Options :
7155058367, B and D only

7155058368, A and B only

7155058369, A and C only

7155058370, B. C and D only

Question Number : 80 Question Id : 7155052648 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



A Demand
550+ D Supply

500+
450 +
400+
350+
300+
250+
200
1504
100+
0+

NO OF USERS

NI

NN
NN

?
i

O T VEGETABLE COSMETICS SANITIZER  STATIONARY
{ FRUITS [TEMS
TYPES OF ITEMS
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A. (R[GIZGIIR (B 50% IR 53 B

B. P4 ST (F97 TR0 |

C. MRS 9o 75! AN ST 0 0 (6§ (A9 o |
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&7 GO0l BT BaI:
Options :
7155058367, (<Pde] B W€ D

7155058368, L de] A W[ B

7155058369, (P de1 A W[ C

7155058370, (P B, C W[¥ D
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Number of Questions :

Number of Questions to be attempted :
Section Marks :
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Maximum Instruction Time:
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Question Number : 81 Question Id : 7155052649 Question Type : SUBJECTIVE Consider As

Subjective : Yes Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Correct Marks : 50

Offline
Mandatory
2

2
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Yes

0
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715505162
No

null



Draw a proportionate sketch of given reference image. Use black and white rendering techniques of
your choice,

Question Number : 81 Question Id : 7155052649 Question Type : SUBJECTIVE Consider As
Subjective : Yes Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 50
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Question Number : 82 Question Id : 7155052650 Question Type : SUBJECTIVE Consider As
Subjective : Yes Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 50

Use the basic 2D shapes found in a motor cycle and create an interesting 2D composition of your
choice, colour with any three colours of your choice.

Question Number : 82 Question Id : 7155052650 Question Type : SUBJECTIVE Consider As
Subjective : Yes Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 50
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